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1. a) England and Scotland both produce scones and sweaters. Suppose that an English 10 ::f:
worker can produce 50 scones per hour or 1 sweater per hour. " v ' ’

Suppose that a Scottish worker can produce 40 scones per hour or 2 sweaters per
hour
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Which country has the absolute advantage in the production of each good?
Wtrich country has the comparative advantage?

If England and Scotland decide to trade. which commoditY will Scotland

export to England? Explain.
If a scottish worker could produce only 1 sweater per hour, would Scotland

still gain from trade? would England still gain from trade? Explain
The following table describes the production possibilities of two cltles :

111.
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(PO 1 )
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Fairs of Red Socks Per WorkerPairs of Red Socks Per WorkerCity
per Hourper Hour

33Boston
2Chicago

Which cjty has an absolute advantage in the production of each color sock?

Which city has a comparative advantage in the production of each color
sock?

ii. without trade) what is the price of white socks (in terms of red socks) in

Boston? What is the price in Chicago?
iii. If the cities trade with each other, which color sock will each export?
iv. What is the range of prices at which trade can occur?

why do economists oppose policies that restrict trade among natrons?

How does a tax on a good affect the price paid by buYers7 the price received bY
sellers9 and the quantity sold? What determInes how the burden of a tax is divided
between buyers and sellers? Why?

Congress and the president decide that the United States should reduce air
pollution by reducing its use of gasoline. TheY impose a $O'50 tax on each gallon
of gasoline sold

i. Should they impose this tax on producers or consumers? Explain carefulIY
using a supply-and-demand diagram

ii. If the demand for gasoline were more elastic, would this tax be more
effective or less effective in reducing the qumrtity of gasoline consumed?

Explain with both words and a diagram .
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Why do they have this effect?
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a) Suppose that Congress imposes a tariff on imported automobiIE: to protect the U.'S- 15 ::::

b ) ri:: ef:::e = ===i t s o R e n g i v e n t o s u P P o n tr a d e r e s tHe tion sp How do economists IOSS ? {

respond to these arguments?

4.

a) Draw a supply_and_demand diagram to explain the effect of a negative externality 1 -5 :: T:
that occurs as a result of a firm’s production process
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b) What are corrective taxes? Why do economists prefer them to regulations as a way 1 '5 :Sl)
to protect the environment from pollution?
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d) What are the main characteristics of a competitive market? Under what conditions 5'o SSt )
will a firm exit a market? Explaln'

6 Explain the following principles of economlcs
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Rational people think at the margln.
Trade can make everyone better off

Markets are usually a good waY to organize economIC actlvltY

Prices rise when the government prints too much moneY'

LocietY faces a short_run trade_off between inflation and unemployment
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